= A
N = 0 &8 AFH Y & A AN
20229 & =& 2 3 LESA ol X st
S A 0l Xl HE ot
M DO YHS S BB
CHel: eI RS AHAY =A (B2l &)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
W IEPNn/3=nl} 5,461,951 4,996,978 464,973
=2 2,452,883 2,452,883 0
Al 1,399,981 1,399,981 0
s 20,000 20,000 0
2 1,589,087 1,124,114 464,973
DEOITH AES B WEH 132,100 134,756 A2, 656
HEHARINL SR AHAY =& 14,908 17,564 N2,656
e 220 0 2,656 A2,656
201 LBt2 Y 0 1,376 A1,376
01 At 2t2lH 0 1,376 A1,376
Ot 2H| 0 1,376 A1,376
—eEggE2I a2 o 0 1,376 A1,376
301 YBtE &2 0 1,280 A 1,280
09 BAIAHI X 22 0 1,280 A 1,280
OUL s LS AIAH E A2 0¥ 0 1,280 A 1,280
UM SA HE Jlgtxy 4,453,397 4,495,397 A42,000
=2 2,391,370 2,391,370 0
Al 1,338,466 1,338,466 0
s 20,000 20,000 0
= 703,561 745,561 A42,000
XSAHUHX ®& olmpt = 56,078 98,078 A42,000
s 20,000 20,000 0
= 36,078 78,078 A 42,000
XY E9 Y2 XNE M= 0 22,000 A22,000
201 L2 0 22,000 A22,000
01 At 22l H 0 22,000 A22,000
OUXYESENSZXCHE o 0 22,000 A 22,000
ZOIDRMHIA AlE2Y 0 20,000 A 20,000
201 LBt 0 20,000 A 20,000
01 AF2 22| H 0 20,000 A 20,000
ORSZ=HZ0RMEIAAESH o 0 20,000 A20,000
PSS (0l XDttt 607,495 97,866 509,629
RSOV 607,495 97,866 509,629
HXZ2 IS H oE 607,495 97,866 509,629
802 BHat 2| Et 607,495 97,866 509,629
01 2DEX2urs= 332,874 9,040 323,834
O UK S=Se XA (0l XFE &)
323,833, 131 323,834 0 323,834
02 Al - SHIEXZBE2 274,621 88,826 185,795
O UK S=2Se X ALE (0l XFEEH
185,794,960 185,795 0 185,795
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